[EETRAEFD D= ZBE+REZD=-DM]

FEE 35 52 SE D A0 B T 55t

S E e EAN] (202541 A )

RAL-EEREVORERVHER+=£0tO=—1 B+_£DOEDE—]

i L] #H 29
£y 6,716 kg
£ 710 kg
BETILAY 2 kg
BEITZAF V% 19,912 kg

Emn [ D e
A< 0 kg
A< 0 kg
=UNEE 0 kg
BT 3,101 kg
A AT RUTRH#ERRLT 12,893 kg
5K EBE 2,851 kg
HAEE |BRRES 1 ke
EEXREY EBRES 1 kg
B7IVHI)ES) 0 ke
R REEY 136,211 kg

XK1 kgAFIXMIER A

R EAM: 20254£1A1H~1H31H

=+

5
N

PREERN A B OHEH A D AITE DEFEIK R B CER B E)SE+=—£0t0=—n, B+=£0tDE—0]

PRBEN IR E

EERRAHRAEE

HARDD—BIERFRE

AEE

AEOD

AEDQ

AEDS

AERRENFONT=E

2025%181HB~1A31H8

2025%181HB~1A31H

2025%181HB~1A31H

BAERER

RERD EFB L3

RHED & Y52

RHED & Y53

[EFWCADBREDEBIRREABER+=-£0tD=—n B+_£DEDE—1]

AR

B RALERER (R

[EFLCADBREEIT>1-H

2025%181HB~1A31H8

2025%181HB~1A31H

A AD A EHE R+ -0t —- B+-£0tDE—1]

6AIC1EIL 1E[C1EUE

BEERALE AEDB AEDB
BEmL-%FAH 20245 7H2H 202451 H9H
AERRENFON-H 2024578168 2024528 1H
AT X5 0.02 ng-TEQ/m3N
(FLEEXR(E (FRERRIED 0.015 m3N/h
(ELVERE LA |E2TRERS g/m3N

=R ) 52 mg/m3

ERMRIEY 55 ppm
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